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()AspkE &R %E (kg/s)? (10 )
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P;= 18 kPa
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10 45.81 191.83 2584.7
15 53.97 225.94 2599.1
: 20 60.06 251.4 2609.7
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- (1)M72 A & ( wetted perimeter ) (2 %°)

CRMBET IR (15 %)

MBRTHZ MG KEAS IR RSB TR ADARBERRAUL > FRALRE R
257 (3 4)
(2)f7 25 & #h k)2 8 £ ( adiabatic combustion temperature )? #8 [5] 4%k} 64 48 2K 12 8 B 3t JF B —
CEBEREAM?(30)
(3)f 25 Mot 84 #hfE (heating value of fuel )?% # & ( HH.V )fu & #4 & (LHV )A MR A? (3 %)
(4)1T 38 J# 3% J7 32 (increase of entropy principle ) (3 4°)
(5)# A (heat engine ) ~ % 4% (refrigerator ) & #4 & (heatpump ) » s L > HAARE? (3

)
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(2)7k /1 4% ( hydraulic radius ) (2 %)
(3) & J& 3% F ( bottom slope ) (3 %) Sm 45°
(4) #b A & B& 7% ( subcritical flow ) 7
;X AZ BE S i ( supercritical flow ) (3 4°)
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[ Manning equation : Q=——ARhASOA (m3/s) P HEP n=002> ABRBEE R, A
n
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C AT FIEAR (20 &)

(1)1 3% At = & ( Energy line » EL ) ~ 7K /7 #% & 4 ( Hydraulic grade line » HGL )? (2 %4")

(2)f725 d’Alembert’s paradox? ( 3 4-)
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(4)#X it Navier-Stokes equation H— B ML E & (3 )

(5)4x it B % %-#7 ( dimensional analysis )4t R 3 1 LA X2 A2 (4 %)

(6)4k ik 1# FA €45 % #74( method of repeating variables )i 4T B R 547 &9 5 582 (5 %)
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